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( English Version )

Instructions: § The question paper has four Parts.

) Part A carries 10 marks, Each question carries one mark.
_ Part B carries 20 marks. Each question carries two marks.

Part C carries 40 marks. Each question carries five marks.

In Part D — D, carries 10 marks and D , carries

10 marks. Each question of D , carrles five marks

#) Write balancéd chemical equations and draw dfagrams :

.wherever necessary.

PART -~ A

Note: 1 Answer all the 10 questions.

f) Questions have to be answered in one word or in one

sentence each. Each question carries one mark.
10 X 1=10
1. Whatis _the source of noble gases ?
2. Give the general electronic configuration of d-block elements.
3. Write the IUPAC name of potassium ferricyanide.
4. What happens to the rate of reaction if temperature raises ?l
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5. Give a conjugate base of HCO 3

6. State Raoult's law of dilute solutions, contaihing non-volatile solute.
7. Name the dispersion medium present in emulsion.

8. Name.the reagent employed to convert bromoéthane to ethene.
9. What is the chemical name of cumene ?

10. Give an example for drying oils.

PART - B
Note: 1 Answer any ten questions.

i) Each question carries two marks. 10x2 =20

11. Write the composition of the following :

a) Limonite

.b]. Magnetite.
12. ‘H 5 S cannot be dried with conc. H,S0,. Give reason.
13. Give two uses each for Helium énd Argon.

14. What are the two conditions for a carbonic compound to show geometrical

jsomerism ?
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What is Friedel-Crafts alkylation reaction ? Give an example.

Give reason why methylamine is stronger base than ammonia.
What is rancidity of oils ? How can it be prevented ?

Calculate the rate constant of a first order reaction in which 75% of the
reaction is completed in 30 minutes.

What is zero order reaction ? Give an example.

What is common ion effect ? Illustrate with an example.

Define entropy. How does it vary in a spontaneous process ?

Calculate the degree of dissociation of 0-1 M solution of acetic acid. Given -.__

K , of acetic acid is 1-8 x 10-5,

PART - C

Answer any two of the following questions : 2x5=10

23. a) Explain the rules of ITUPAC nomenclature of co-ordination

compounds. 3
b) What is a ligand ? Give an example of a monodentate ligand. 2
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II1.

24. a) | Descrlbe the manufacture of sodium hydroxlde using Nélson's
. cell: _ | e .4
b) Which one is more stable :a.mong o, aﬁd .05 ? 1
25. a) Write the electrpmc configuration of O, using molecular orbital
diagram. 3
.b] De@c radius ratio and give its significance. | 2
Answur any t}-tree_ of the following questions : 3 x5=15
26. 2  Explain Baeyer strain theory of cycloalkanes. - 4
b) What is chiral carbon atonﬁ ? o
27. a) Describe the manufacture of phenol by cumene proceés. 3 )
| b) Give any two uses bf acetone. 2
28. a) Elucidate the open chain structure of glucose. 4
'b)  Write the Zwitterion structure of alantne, 1
29. a} Explajn the followiné reactions :
9 Clemmensen‘s Reduction | ' 2
) Wurtz's Reaction. | | 2
b) .erte the I.UPAClna.me of CH4 CH, COCH ,. ' 1
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m. Answer any three of the following questions : 3x5=15

30..

31.

32.

33.

34.

a)

b)

b)

b)

b)

b)

How do you determine order of a reaction by Ostwald's isolation

method ? ' ' 4

What is the unit of molar conductance ? : 1

Explain the construction and working of a standard hydro'gen

electrode. B | ‘ !
Define ionic pro"dh‘e't'( K ) of water. - ‘ 1

Find the pH of a buffer solution containing 0-4 mole of NH OH

and 0-8 mole of NH,Cl per litre of solution. Given K ; of

NH ,OH s 1.8 x 10-5. | 4
Define solubility product (K, ). 1
Rusting is an elech'ochemical phenomenon. Explain. 3

Calculate the EMF of a cell consisting of standard electrodes of

two metals whose SRP are - 2-38 volts and - 0-76 volts. 2.

Write any three differences between ideal and non-ideal

solutions. ' _ o 3
Give two differences between Lyophilic and Lyophobic colloids. 2
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PART - D

D,

Iv. Answcr any one ofthe_ following : ‘ | Ix 10 =10

35. @) With the help of Ellingham diagram, explain why

36.

b}

c)

d)

b}

c)

d

)  Aluminium is used as a reducing agent in the metallurgy of

chromium, _ 2

) Carbon mongqxide acts as a reducing agent in the

production of cast iron from Haematite. 2

Mention the conditions for a process to be spontaneous in terms

of AH, AS and AG values. ' 3

Write any two differences between Inductive effect and

Mesomeric effect. | .2
Which fraction of coal tar contains phenol ? 1
Give two general methods for the preparatidn of aldehydes. 4
Describe Bredig's arc method of preparing gold sol. 2.
What is dialys;is ? | 2

Calculate the number of particles present in BCC crystal lattice

unit cell. 7 2
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D,

Answer any two of the following : 2x5=10
37. a) How is p-bromoacetanilide prepared in the laboratory from
acetanilide ? ' 3
b) Explatn Millon's Test. 2
38.  Describe an experiment to show the effect of concentration on the
rate of reaction between potassium persulphate and potassium
iodide. o -

39.

Describe the experiment to determine the mass of potassium
permanganate dissolved in 250 cm ® of the solution using standard
ferrous ammonium sulphate solution. Write equation for the

reacton. 5



